
.Example 

Two cables are tied together as shown. If the largest allowable tension in either cable is 800 N, 

a) what is the largest force P that can be applied at 0
b) What is the corresponding angle a?
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_________________________________________________________________
Example 

A gorilla of mass 160 kg is suspended from a light, inextensible cable making use of two massless, frictionless pulleys as
shown in the figure. Find the magnitude of the force P that must be applied to keep the gorilla stationary as well as the
angle a.

FRo� 

fKOM 

?== 

cl') 

2 s·,�� 
-

( z. ') 

("'9, 

\ 
\ 

� � 
�2ty=o ...,� 

? � 

? 5,·,(\ � � 'P �.Y'\ � -? �� 0,., ::' 0

i if) 
�o

p �()O\ * pcos� -t- Pcos � - fV' � -= o 

o<. : Co':>-• r z ::.·•\"I� 1 C.C><;d-. 

l .l{ (.,. B. ICoS -4 [z• S\Vl\Z.UJ1 ==::-

-
V �N·S�) \�O'rl� .Gf,.�\ � � 

S\Y"\ d. -tZ... c.os 

� s·,f\ �.£,� t'l, eo� 20 ° 
j (.,OZ. 1-.!\ � 

(l) 

C --i.) 




